Super Siedler

Equipment: Two copies of Siedler von Catan.

Setup: When building the board, mix in eight sea hexes, four with ports and four without. The land of Catan will then have lakes, inlets, and inland ports. A good shape for the board is two regular boards joined at an edge, with four hexes filling the space at each shared vertex. But any shape will do.

An interesting variant is to deal out the hexes to the players and have them place them, one by one, in some alternating order. The resulting board may have a very odd shape, indeed.

When placing the remaining port hexes around the edges of the board, distribute them as evenly as possible. There may not be enough other sea hexes to fill the perimeter of the board, but that doesn't matter.

Place the counters on the hexes, one set at a time, but each set in the designated, by letter order. Choose a spiral pattern that approximates the one used in the regular game. After placing counters, check to make sure that no red counters ("6" or "8") are touching each other. If any are, switch one with a black counter that is not adjacent to any red counters. Keep doing this until all red counters are isolated from one another, unless this is not possible.

Place a bandit in each desert.

New Rules: There are now two bandits, which cannot simultaneously occupy the same hex. Each has the normal effect of a bandit. When a player must move the bandit (because of rolling a seven or playing a Ritter), he or she may choose which one to move. One must be moved, of course.

Since there are twice as many hexes for each number that can be rolled on the dice, the number of raw material cards one can hold without losing some when the robber becomes active (because someone rolled a seven) is increased to ten.

There are new structures that can built, with a new cost card for them.

Bridge 

Highway 

Metropolis 

Bridge

A bridge crosses sea hexes and/or the edges where sea hexes meet to connect two vertexes touching land hexes. Bridges are represented on the map by the same pieces used to represent roads, but it always requires more pieces to build a bridge of a certain length than would be required for the same length of road. This means that building a bridge reduces the maximum length of road that one can achieve. There is a 1 point bonus to the player with the longest bridge (in case of a tie the first player to get the bonus keeps it.) This bonus is given even for a bridge of length one.

The segments of a bridge count towards the length of a road when determining the longest road, even if the bridge is earning the bonus point for being the longest one on the board.

Bridge (length 1)

A one segment long bridge requires two brick and a wood to build, and is represented by two road pieces. It must cross an edge where two sea hexes meet, with each end at a vertex touching a land hex. 


Bridge (length 2 or more)

Bridges that are two or more segments long must either bisect sea hexes or cross edges where two sea hexes meet, and can only be built in a straight line. A bridge's length is one for each edge it crosses, plus two for each hex it bisects. The cost is that of a one-segment bridge, plus one brick and one ore for each additional segment of length.
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The endpoints of a bridge must touch land; it is not possible to partially construct a bridge and finish it on a later turn. The bridge is represented by a staggered series of road pieces that always number one less than twice the length traversed (i.e. three for two lengths, five for three, seven for four, etc.) The following figure provides examples of valid and invalid bridge constructions.
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Highway

A highway provides a quick way across a hex, allowing one to connect two opposite vertexes with fewer road pieces than normally required, or to bypass opponents' settlements that might otherwise block road construction. A highway is represented by two road pieces, and counts as two lengths of road when determining the longest road. It must cross a hex by connecting vertexes at least two vertexes away from each other around the perimeter of the hex (i.e. it cannot angle sharply and connect two adjacent hexes.) It costs one wood, two brick and two wheat to build.
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A highway must be built in its entirety in one turn; it is not possible to pay for half of it and place only one road piece. Once one player has built a highway across a hex, no other player may do so. Highways can coexist with normal roads around the edges of the hex. The following figure provides examples of valid and invalid highway constructions.
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Metropolis

A metropolis is created by upgrading a city. It is represented on the map with two city pieces placed side by side. A metropolis is worth 4 points, and allows one to draw three raw material cards when the number of a hex adjacent to the metropolis is rolled. In addition, a metropolis has the effect of freeing up the three adjacent vertexes for construction of settlements. That is, any player can always build a settlement on any of the three vertexes adjacent to a metropolis, disregarding the rule that forbids adjacent settlements. These settlements can later be upgraded to cities or metropolises.

A metropolis costs three wheat and five ore.
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The following figure provides an example of a metropolis.
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